ofE HTTIA

s ROFENT—DER
BRBEMCAR | ramte 73 FRESEGAL,

hER7T =

BATE

D1 Y —rzyb—QIE A —QHLiRIR T 1T (YE5E)

HWEMSETE

SDOiHE

A:D1(TFEETER) D+0.05mmigE
B:ERA Y —tDERL(TETER)+0.1mmiEE

A:D1(TF&E~TER) D+0.05mmiZE
B:ERA Y —tDERL(TETER)+0.1mmiZE

E:fH—hFybDIEEEEOAAFERT S5 . EEF~HEIZ0.8mmerR
WEY

ERALOEE
1Y =D ABEFDOIRITONTIEBRLBIENEZLNET D TR TAMELTHLREL TS,

KEYFAY—FIRYYMMIAAS-H. RLBEIFJIS2ZHREBNELRYET,

oS EME

kL2 (N-m) 8 = 4 515k (N)

Ag




M3 M4 M5 M6 M3 M4 M5 M6
SD- SD- SD- SD- SD- SD- SD- SD-6001
3001 4001 5001 6001 3001 4001 5001

1.5 2.5 3.9 54 ABS 686 882 1176 1520

1.7 2.8 4.3 5.9 I 784 931 1274 1618

17 2.9 4.4 6.1 A1) 804 951 1323 1765

otk E
SD(REAVA—FK HyF)
- L . I
)

FOHAX M2.6%0.45

Sl

HRAEAR (TR >

x| WEM | BEH | BEH | BEETY | BERT _—
DUI L | sk | ShiA | TB | W#C | ikde | ko2 | WA | BAR
40 50| 35 | 405 | 510 | 20 1.9 40 | sD-2602 | 5000
40 | 6.5 5.0 4.05 6.60 2.0 1.9 5.5 SD-2601 4,000

FOHA4X M3x0.5

D1 L *T | MFHM | EFH | BFH | WERTE | BRRTF a5 25 A2
BEPME | FRA | F&B | sFikC ~Tiido sTi%140.2

45 | 5.0 3.5 4.55 5.10 2.2 2.2 4.0 SD-3002 | 4,000
45 | 6.0 4.0 4.55 6.10 2.2 2.2 5.0 SD-3003 | 3,000
45 | 65 5.0 4.55 6.60 2.2 2.2 5.5 SD-3001 3,000
45 | 75 6.0 4.55 7.60 2.2 2.2 6.5 SD-3009 | 2,500
45 | 85 7.0 4.55 8.60 2.2 2.2 7.5 SD-3004 | 2,000
45 | 10.0 8.0 4.55 10.10 2.2 2.2 9.0 SD-3005 | 2,000
50| 65 5.0 5.05 6.60 2.5 2.2 5.5 SD-3006 | 2,000
55| 6.0 4.0 5.55 6.10 2.7 2.2 5.0 SD-3007 | 2,000
6.5 | 11.0 8.0 6.55 11.10 3.2 2.2 10.0 SD-3008 800




FOHA4X M3.5%0.6

50| 8.0 6.3 5.05 8.10 2.5 2.6 6.8 SD-3501 2,000
2SH AR M4x0.7

D1 L *T | MFHM | EFH | BFH | WERTE | BRRTF a5 25 A2

BEPME | F3RA | F&B | sFikC ~Tiido sTi%140.2

55| 6.0 4.2 5.55 6.10 2.7 2.9 4.8 SD-4002 2,000
55| 7.0 52 5.55 7.10 2.7 2.9 5.8 SD-4006 | 2,000
55| 9.0 7.2 5.55 9.10 2.7 2.9 7.8 SD-4001 1,500
55| 11.0 9.0 5.55 11.10 2.7 2.9 9.8 SD-4007 1,000
55| 14.0 10.0 5.55 14.10 2.7 2.9 12.8 SD-4003 1,000
6.5 | 9.0 7.2 6.55 9.10 3.2 2.9 7.8 SD-4004 1,000
6.5 | 14.0 10.0 6.55 14.10 3.2 2.9 12.8 SD-4005 500

HA4X M5%0.8

|

65| 7.0 5.1 6.55 7.10 3.2 3.8 5.8 SD-5002 | 1,500
6.5 | 9.0 7.1 6.55 9.10 3.2 3.8 7.8 SD-5003 | 1,000
6.5 | 11.0 9.1 6.55 11.10 3.2 3.8 9.8 SD-5001 800
6.5 | 13.0 10.0 6.55 13.10 3.2 3.8 11.8 SD-5004 600

SHA4X M6%1.0

|

2C | EFEH | BEH | BFEH | BERTT | HERTH
D1 | L | 52iE | Si2A | T8 | t#C | <de | TEl+02 | SE | BAM
8.0 | 125 10.3 8.05 12.60 4.0 4.5 111 SD-6001 500
8.0 | 15.0 12.0 8.05 15.10 4.0 4.5 13.6 SD-6002 400




FOHYA4X M8x1.25

x| MF | @F | MF : :
D1 | L | AR | & | # | w | ERERTORERIT g max
& | HBA | TEB | HHC =9 AT
11.0 | 16.0 | 13.0 11.05 | 16.10 5.5 6.2 14.6 SD-8001 200
FD(I52 Y FvF)
L : | .
o
sk F R
2P AR M2.6%0.45
x| @F | BF | BF | BEET | HERRT 55 A
D1 | D2 | L | &® ¥ # * ¥ I & & %
R | A | HEB | HAC | hiAde | Fi&I0.2
FD-
40 | 55 | 60| 45 4.05 6.10 20 1.9 5.0 2601 3,000
2P ALX M3x0.5
x| @F | BF | BF | BEET | HERRT 55 A
D1 | D2 | L | &% | # # # B ki HE %
R | A | TEB | SHAC | hiAde | Ti&I0.2
FD-
50| 65|60 | 45 5.05 6.10 22 2.2 5.0 3001 2,000
FD-
5.0 | 65| 75 6.0 5.05 7.60 2.2 2.2 6.5 3002 1,500

2O AX M4x0.7

#> | BF | BF | M | BEET | BERT .
D1 | D2 L M M M M [F (f IEES %
E | stEA | SH#EB | HEC | tikde | sHiEI+0.2
5580|75| 57 | 555 | 760 | 27 2.9 6.3 FD- | 4 000
5|80/ 7 . . . . . . hiive ,
55|80 90| 72 | 555 | 910 | 27 2.9 78 FD- | 1,000
4002




x| HBF | BF | BF | BEET | BEET =
D1 | D2 ' | M | & | #H ¥ B BE | Ty
E | A | TEB | THC | hikde | TiAI+02
FD-
6.5 | 80 | 9.0 7.1 6.55 9.10 3.2 3.8 7.8 5001 800

" |

x| BF | BF | BF | BEET | BEET =
DI | D2 | L | E#H | # | # | # i i 5E | "y
K | TEA | TEB | TAC | TiAde | iKI+0.2
FD-
8.0 | 10.0 | 11.0 8.8 8.05 11.10 4.0 4.5 9.6 6001 500

T A4X M8x1.25

2o | BF | mx | BF | gerT | nEsT
o e o ; ! . PN
E & sze | T Fikde | TEI40.2
FD-
11.0 | 14.0 | 16.0 12.0 11.05 16.10 55 6.2 14.6 8001 600




